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1. The integer part of the decimal number 51.38 is
(i) 5 (i) 38 (iii) 51 (iv) 513 (v) 61

Sort the following decimals in descending order
9.0194, 8.1907, 8.6520, 9.7311, 8.2385, 8.3318

(i) 8.3318,9.0194,8.1907,9.7311,8.6520,8.2385 (ii) 8.6520,9.0194,8.2385,8.3318,8.1907,9.7311
(iii) 9.7311,9.0194,8.6520,8.3318,8.2385,8.1907 (iv) 8.3318,8.1907,9.0194,9.7311,8.2385,8.6520

(v) 9.7311,8.2385,8.1907,8.6520,9.0194,8.3318

3. Find the decimal number at the point labelled with letter E
E
< I I I I I I T I I I I I I I I I I I I I P
5.0 6.0 1.0

(i) 5.4 (i) 5.9 (i) 6.2 (iv) 5.7

4. Which of the following is true?
(i) -15.27 <-83.80 (ii) -30.24 < -31.17 (iii) -20.15 <-59.04 (iv) -45.38 <-68.95 (v) -7.75>-71.38

5. Write the decimal number391.1in words

(i) three hundred and ninety one point zero one (ii) three hundred and ninety one point one
(iii) three hundred and ninety two point one (iv) four hundred and one point one

(v) three hundred and ninety one

6. The value of 59.028 + 74.081 is
(i) 133.209 (ii) 133.309 (iii) 133.109 (iv) 132.909 (v) 133.009

7. 19.53 =

1953 | 953 . 1953 1953
(i) - (ii) 1953 (iii) - (iv) - (v) -
10 10000 100 1000

8. Write the decimal number436.850in words

(i) four hundreds three tens six ones and eight tenths and five hundredths

(ii) four hundreds three tens six ones and eight hundredths and five thousandths

(iii) four hundreds three tens six ones and eight thousandths and five ten thousandths
(iv) four hundreds four tens six ones and eight tenths and five hundredths

(v) four hundreds three tens seven ones and eight tenths and five hundredths

9. 10.36 =

(i) >18 (ii) 259 (iii) 229 (iv) 1036 (v) 229
5 2500 250 25
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"four ones and five tenths" is how much?

5 2 2 2 2
(i) 400+50 (ii) + (iii) 4045 (iv) 4+ (v) + + +
10 100 10 10 100 1000 10000

Write "one hundred and six" as decimal number
(i) 1060.0 (ii) 10.6 (iii) 106 (iv) 107 (v) 116
Which of the following decimal numbers lie between431.96and431.977?
(i) 43.197 (ii) 431.958 (iii)) 4319.65 (iv) 431.973 (v) 431.965
21 =
(i) (i) 21 (iii) 210 (iv) (v) 21
i ii iii iv %

100 10 1000
Which of the following decimal numbers lie between2990.6and2990.7 ?
(i) 2990.53 (ii) 2990.67 (iii)) 29906.75 (iv) 299.07 (v) 2990.77
The value of 3.6 — 2.6 is
(i) 1.20 (ii) 0.80 (iii)) 1.00 (iv) 0.90 (v) 1.10

7521 ) .
Express as a decimal correct to 4 decimal places
10000

(i) 0.7521 (ii) 0.0752 (iii) 7.521 (iv) 0.8521 (v) 0.5521
"four tenths and three hundredths" is how much?
.4 3 . 3 2 5 6 4 .
(i) ——+- (i) 2+ — +- + - +- (iii) - +- (iv) 40+3 (v)

10 100 10 100 1000 10000 100 1000
56.009 + = 136.858
(i) 82.849 (ii) 78.849 (iii) 79.849 (iv) 81.849 (v) 80.849
one tenths of 2 is how much?
(i) (i) 2 (i) 20 (iv) (v) :
i) ii iii iv) - V) -

1000 10 100

The integer part of the decimal number 609.371 is

(i) 371

(ii) 619

(iii) 60

(iv) 6093

(v) 609

4+

3
10



21. Find the equation representing the following decimal number line diagram

22.

23.

24.

25.

<~

| -

00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16

(i) 1.3+1.3=2.6 (ii)

14-1.6=-0.2

(iii) 1.6—-1.3=0.3

How many tenths are there in the number 676.68477

10 (iii) 6 (iv) 4 (v) 7

(i) 8 (i)

The value of 291.2 — 141.064 is
(i) 149.936 (ii) 150.036 (iii) 150.336 (iv)

8 paise +39.82 =

(i) 988 paise (ii) 992 paise (iii)) 991 paise (iv) 990 paise (v) 989 paise

150.136

The decimal part of the decimal number 7241.4718 is

(i) 724

(ii) 4718 (iii)

7241 (iv)

72414

(v)

7251

(iv) 1.4-1.3=0.1

(v)

150.236

(v) 1.5+1.5=3.0



Assignment Key

1) (iii) 2) (iii) 3) (iv) 4) (v) 5) (ii) 6) (iii)
7) (iv) 8) (i) 9) (v) 10) (iv) 11) (iii) 12) (v)
13) (iv) 14) (ii) 15) (iii) 16) (i) 17) (i) 18) (v)
19) (iv) 20) (v) 21) (iv) 22) (iii) 23) (iv) 24) (iv)
25) (ii)
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